
27
29

28

30 1

2

9

11

14
15

18
19

13

10

8

7

16

17

12

31

24

24

24

26

20
34

46

38

25

CP7202D

CP7201P

CP7200S
37

41
42

33
33

43
43

44
45

40

36

22
21

39

23

CP7200 Random Orbital Sander
CP7201 Polisher

 CP7202 Rotary Sander

No. Part No. Description Qty

1 8940158329 Bushing-Air Inlet 1
2 CA158053 Spring-Throttle 1
7 CA158058 Screw M3 x 8 1
8 CA158059 Deflector-Exhaust 1
9 CA158060 Pin-Trigger 1

10 8940158333 Housing-Motor 1
11 P092537 O-Ring-014 1
12 CA158062 Trigger 1
13 CA158063 Regulator 1
14 S039709 Bearing-Ball 626ZZ 1
15 CA158064 Endplate-Rear 1
16 CA158065 Rotor (CP7200S-CP7202D) 1

CA158075 Rotor (CP7201P) 1
17 CA158066 Blade-Set 1
18 CA144797 Pin-Spring 1
19 CA158068 Liner 1
20 CA158069 Spacer-Rotor 1
21 8940166983 End Plate w/O-Ring (CP7200-CP7202)** 1

8940166982 End Plate w/O-Ring (CP7201)** 1
22 CA144800 Bearing-Ball 608ZZ 1
23 CA158071 Spindle (CP7202) 1
24 CA158072 Spacer 1
25 CA158073 Nut-Clamp (CP7202) 1
24 CA158072 Spacer 1
26 CA158086 Hub-Orbital (CP7200) 1

8940158311 Operator's manual
6159948770 Safety instructions
8940168305 EC declaration

No. Part No. Description Qty

27 8940158332 Nut (CP7200) 1
28 CA158091 Bearing-Ball 608RS (CP7200) 1
29 CA158090 Ring-Retaining Internal .866 (CP7200) 1
30 CA158088 Guard (CP7200) 1
24 CA158072 Spacer 1
39 CA158077 Gear-Internal (CP7201) 1
40 CA158078 Gear-Idler (CP7201) 3
41 CA158079 Pin-Idler 3
42 8940158331 Shaft-Spindle 1
43 S025055 Bearing-Ball 6200ZZ 2
44 CA158081 Nut-Clamp 1
45 CA158082 Spacer 1
31 CA158074 Cover-Handle 1
32 8940158330 Pad 3" Hook & Loop(CP7200, CP7201) 1
33 8940158334 Pad 2" Hook & Loop(CP7200, CP7201) 1

CA158102 Pad-Sanding 3" Roloc (CP7202) 1
34 CA158104 Muffler 1
36 CA155648 Label-Warning 1
37 CA158084 Connector (CP7200) 1
38 CA158085 Nut-Clamp (CP7200) 1
46 8940166200 Valve and Seat kit 1

CA158089 Key (Not Shown)(CP7200) 1
CA158083 Wrench (Not Shown)(CP7201) 1
CA144807 Wrench (Not Shown)(CP7202) 1

Recommended accessories
CA158108 3" Pad-Polishing Soft 8940158773 2" Pad-Polishing Hard (Not Shown)
CA158109 3" Pad-Polishing Hard 8940158774 2" Pad-Buffing (Not Shown)
CA158110 3" Pad-Buffing (CP7201) 8940158771 CP7201 Gear Removal Tool (Not Shown)
8940158772 2" Pad-Polishing Soft (Not Shown)

8940168945


